@Zﬂ[@ @)»)») ECO HO OO OO H-Model Linear Guides

w
4-MxQ
L J
W F
h
Ho
1>/
01480 EGH, MEGH, EGH-L, MEGH-LOOOOOOO
oooooo ooooo Jo0o00o0oo0ooooooag ooooo
ooog ooog H H, T, w L w [} L, F Mx¢,| T h P
EGH15 MEGH15 | 28 | 3 95| 34 | 59 | 26 | 26 | 402 ] 25 | M4x6 | 15 |13 | 60
EGH20 MEGH20 70 36 | 485
Eatool T MEGHzoL | X | 45 |12 | % o5 32 oo Jes] 255 |Msx65| 20 | 163 60
EGH25 MEGH25 80 35 | 57.5
EGHosL | MEGH2SL | 20 | 58 | 125 | 48 oo 35 o5 Tgrq| 32| Mex9 | 23 |192| 60
EGH30 MEGH30 95 40 | 67.8
EGHsoL T mEGHsoL 1 25 |7 |16 | 6 3l %0 oo Tiose| B | Mex12| 28 | 228| 80
EGH35 MEGH35 112 50 | 80.5
EGH3sL | mEechasL | °° | 75 | 18 0 ol 50 oyt e] 475 | Mex12 | 34 |26 | 80
EGH45 MEGH45 129 60 | 94
EGHASL | MEGHasL | 70 | 89 | 205 | 8 5 60 —goTize | 611 |MI0x 18| 45 | 311105
014900000000
gooooag O0oo0oooooo
1?0 590 1q00 1@00 2090
EGH15 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
MEGH15 1
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH20 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
—
MEGH20 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH25 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
MEGH25 Tttt
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
EGH30 280 440 600 760 920 1080 1240 1400 1560 1720 1880
MEGH30 " 360 520 680 840 1000 1160 1320 1480 1640 1800 1960
EGH35 280 440 600 760 920 1080 1240 1400 1560 1720 1880
MEGH35 " 360 520 680 840 1000 1160 1320 1480 1640 1800 1960
EGH45 570 780 990 1200 1410 1620 1830
MEGH45 675 885 1095 1305 1515 1725 1935

*GEEILIE | ATULY, L—LITEREES0LMEEHELTEYET.
EGH25 0CG 02 x 1300

ooo

216

ooooo gooooo
0ooo
mEs ZEJU—Z [ HG | HBIU—R |
cG sy—5)—2 || FG_ | &RII—ZR |
VG HEJ)—R KT —ROMERPIOSE




EGH, EGH-L series qqq@ (0ZEK

N L NN
L EGH : RAVH—K&A7
EGH-L : Av45447
Rl
] | 0
‘ ) 1
a1
e |
G nXxP ‘(G>
Lomax
Mx My Mz
AN
ooo 0000000000 (000000 |0000CO0O0O00 |00000| 000

C C, My | My | M, oo oo
G Dx dx f Lo. | 00O ik N |0kNO |OkNOG kNImI) kNOmI) KNIm0 OkgO |0 kg/mO
20 75x 45x 6 | 4000 | M4x 0.7 | 95 |0550| 9.94 | 14.46| 007 | 0.05 | 0.05 | 0.19 1.28
1544 | 2131 022 | 018 | 018 | 031 2.15
2162 | 34.43] 036 | 046 | 0.46 | 047 2.15
2127 | 2951] 035 | 031 | 030 | 045 2.88
28.27 | 44.28] 053 | 0.70 | 068 | 0.80 2.88
31.38 | 4249] 059 | 049 | 0.48 | 091 4.45
4170 | 63.75] 0.89 | 1.12 | 1.10 1.36 4.45
4360 | 57.83] 0.94 | 0.74 | 0.72 1.50 6.25
57.95 | 86.76| 141 | 169 | 1.64 | 234 6.25
57.98 | 7556| 212 | 167 | 1.65 | 2.26 9.60
77.04 | 113.33| 318 | 370 | 366 | 3.35 9.60

20 9.5x 6 x 85 | 4000 M6x 1 7.1 (0120

20 11 x7 x9 4000 M6x 1 142 | 0120

20 14 x9 x12 | 4000 M6x 1 13 0120

20 14 x9 x12 | 4000 M6x 1 185 | 0120

225| 20 x14x17 | 4000 |M8x 1.25| 24.4 | 0110

BT mm
goooooooo ooao
2590 3090 3590 40‘00 oooo
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 J 4000
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
20202140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T 1 4000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 4000
T T T T T T T T T T T T T T T T T T T T T T T T T 1
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2200 2360 2520 2680 2840 3000 = 3160 3320 3480 3640 3800 3960
T T T T T T T T T T T T T T T T T T T T T T T T ™1 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 J 4000
T T T T T T T T T T T T T T T T T T 1
2145 2355 2565 2775 2985 3195 3405 3615 3825 4000

2117





